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SOCIETY IN CHANGE: THE UNITED KINGDOM, 1939-1974

Answer Question 1 (Section A) and either Question 2 or Question 3 (Section B).

SECTION A

Answer all parts of this question.

1. This question is about economic, political and social issues 1945-1974.
Study Source A below and then answer the question that follows.

Source A - shows a motorway in the 1950s.

(a) Describe motorways in the 1950s. [2]
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(b)  What was the Beveridge Report (1942)? [4]

(4322-01) Turn over.
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Study Source B below and then answer the question that follows.

Source B — shows miners in 1946 with a sign showing that
the coal mines had been nationalised by the Labour Government.

(¢c) How useful is Source B to a historian studying the policy of the nationalisation of
industry by the Labour Government after World War I1? [4]
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(d)  Explain the reasons why the Labour party won the General Election of 1945. [6]

(4322-01) Turn over.
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Read the following sources carefully and then answer the question that follows.

Source C

‘British Railways is losing £300,000 every day. We ought to be disturbed by
this information. At the end of the day it is the tax-payer who will have to
pay for these losses. Buses serve the same purpose as railways. Buses and
cars carry the greater part of the passengers moving about the countryside.
There is no alternative — railways must be cut. No one will suffer because of
my proposals.’

Taken from the Beeching Report on the
state of the railways published in 1963.

Source D

‘In 1963 Dr Beeching became Chairman of British Railways and his solution
was to cut losses by closing thousands of kilometres of railway lines and over
2000 stations. As a result, villages were cut off because rural bus services
were so poor and people without cars could not get about so easily.’

Taken from the 20th Century by John Aylett (1988)
a general history book written for secondary schools.

(e)  Why do sources C and D give different views about the effects of the Beeching cuts on

the railways?
In your answer you should consider the content as well as the authorship of the sources.

[6]
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(f)  ‘The most important government policy of the period 1945 to 1974 was ‘Homes for All’.’
To what extent do you agree with this statement? [8]

Give arguments for and against this statement by:

describing the ‘Homes for All’ policy,
considering other government policies of the period.
Conclude by saying how far you agree with the statement.

END OF SECTION A

(4322-01)



Examiner
only

SECTION B

Answer either Question 2 or Question 3.

2. This question is about the impact of war on people’s lives 1939-1945.
Study Source A and answer the question that follows.

Source A — shows women at work in a factory during World War I1.

(a)  Describe the work done by women in factories during World War II. 2]

(4322-01) Turn over.
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(b) What methods were used to protect people during air-raids? [4]
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(¢) How did the government keep people fed during World War I1? [6]

(4322-01) Turn over.
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(d)  ‘Sending young children to live with strangers in the countryside was wrong. It would
have been better to leave them at home with their parents.’
To what extent do you agree with this statement? [8]

Give arguments for and against this statement by:

explaining why evacuation was carried out;
describing the experiences of evacuees.
Conclude by saying how far you agree with the statement.

END OF QUESTION 2
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If you have answered Question 2 you must not answer Question 3.

3. This question is about lifestyles in the 1950s and 1960s.

Study Source A below and answer the question that follows.

Source A — shows a convenience food of the 1950s.

(a) Describe convenience foods in the 1950s. [2]

(4322-01) Turn over.
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(b) How did fashion change in the 1950s and 1960s? [4]
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(¢) Explain why many people joined groups such as Campaign for Nuclear Disarmament
(CND) during the 1950s and 1960s. [6]

(4322-01) Turn over.



1
6 Examiner
only

(d)  ‘The growth of leisure activities during the 1950s and 1960s changed people’s lives more
than any other development.’

To what extent do you agree with this statement? [8]
Give arguments for and against this statement by:

describing the growth of leisure activities;
considering other influences on people’s lives during the period.
Conclude by saying how far you agree with the statement.

END OF SECTION B
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